
N = 49
 49 circles in a square

radius =   0.071692681704
ratio  =  13.948425086594

density  = 0.791216989527
contacts = 120

 E.SPECHT
01-SEP-2009

N = 50
 50 circles in a square

radius =   0.071377103865
ratio  =  14.010094916404

density  = 0.800272183998
contacts = 100

 E.SPECHT
01-SEP-2009

N = 51
 51 circles in a square

radius =   0.071043138116
ratio  =  14.075954786424

density  = 0.808656948185
contacts = 99

 E.SPECHT
24-FEB-2010

N = 52
 52 circles in a square

radius =   0.070957693073
ratio  =  14.092904612578

density  = 0.822530842068
contacts = 105

 E.SPECHT
01-SEP-2009

N = 53
 53 circles in a square

radius =   0.069947252562
ratio  =  14.296487186730

density  = 0.814642500051
contacts = 108

 E.SPECHT
03-SEP-2009

N = 54
 54 circles in a square

radius =   0.068645540105
ratio  =  14.567588782533

density  = 0.799407623084
contacts = 115

 E.SPECHT
01-SEP-2009

N = 55
 55 circles in a square

radius =   0.068055360559
ratio  =  14.693919652932

density  = 0.800271297245
contacts = 113

 E.SPECHT
01-SEP-2009

N = 56
 56 circles in a square

radius =   0.067532596322
ratio  =  14.807664068297

density  = 0.802351729503
contacts = 119

 E.SPECHT
01-SEP-2009

N = 57
 57 circles in a square

radius =   0.067004873106
ratio  =  14.924287647219

density  = 0.803965673846
contacts = 113

 E.SPECHT
01-SEP-2009

N = 58
 58 circles in a square

radius =   0.066232983746
ratio  =  15.098217586528

density  = 0.799330724318
contacts = 125

 E.SPECHT
01-SEP-2009

N = 59
 59 circles in a square

radius =   0.065807496904
ratio  =  15.195837055843

density  = 0.802698827038
contacts = 121

 E.SPECHT
01-SEP-2009

N = 60
 60 circles in a square

radius =   0.065030412648
ratio  =  15.377420491060

density  = 0.797139156419
contacts = 129

 E.SPECHT
01-SEP-2009


